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ENGLISH

Direction for questions 1 to 5:

6.

Each question gives a sentence with a part of the sentence underfined that may contain
an error. Four altenatives are given for the underlined portion. Choose the best
alternative from the given options.

The professor asked her will you submit her
(A} When will you submit her thesis

(B} When she would have submit her thesis

() When you will have submitted your thesis
(D) When she would submit her thesis

She only dances when there is no one present,

(A) She only dances (B) She dances only

(C) she dances solely (D} she solely dances

Was the letter written wi ncil or with ink

(A) with pencil ar with ink (B) with pencil or ink

(C) in pencil o in ink (D) in pencil or ink

| would have told 3 lie if | ever said that | liked you

(A) | was telling a lie (B) | have been telling a lie

(C) | would have been lying (D) | would have told a lis

He loves not only reporting but also creative writing.

(&) loves not only reparting (B) not only loves reporting

(C) loves not reporting (D) loves only reporting
Choose the correct connectors-

It is rafning........... the weather is very hol

(A) for (B) stil

(C) though (D) otherwise

The rabbit was fast ........... the tortoise was steady.

(&) therefore (B) despite

(C) yet (D) but

i | was young | enjoyed niding.

(A) Since (B) When

(C) As (D) While

(3) Set-C




Fill in the blanks with the most appropriate ‘Subject — Verb Agreement:

9. Either of you .......... responsible for the accident.
(A) am (B) was
(C) are (D) is

10.  Three thousand rupees........ spent daily in buying food.

(A) s (B) are
(C) was (D) has
11.  She .......... her hair with a hair dryer.
(A) dry (B) blow
(C) dries (D) wets
12.  Neither praise nor blame .............. to affect him.
(A) care (B} seems
(C) seem (D) occur
Choose the suitable adjective.
13. Wespenta .................. aftemoon by sea beach.
(4) likeable (B) loving
(C) lovely (D) lovable
14.  ldon'thave ... .. money left to give you.
(A) much (B) more
(C) some (D) few
Choose the correct answer.
15. He............ to see his mother yesterday.
(A) went {B) goes
(C) is going (D) has been gone
168.  ............... Alps are feeling the effect of global warming.
(A) A (B) The
(C) An (D) Some

(4)




Complete the word correctly

17. Dia
() mhae (B) rrhea (C}  rhea (D)
18.  Mis
{A) celaneous (B) cellaneous  (C) calaneous (D) sellane
18,  Impro
(A) pable (B) bable (C)  beble (D)
20. Post
(A} ulates (B) uliates (C) ulattes (D) uiates
21. Ind H
(A) vidual (B) ividul (C) ividual (D)  ividd

Read the following passage and answer guestion based on passage. i
Alexander on his way back , met a saint. The saint was sitting on a coarse grass
and basking in the sunshine. Alexander stood in front of him and it
would pay respect to him, but he did not. Instead, he said, "Please stand asid 2. |
sunshine come to me".

Alexander asked angrily, "Do you know who am 7"

The saint did not reply.

“| am an emperor- Alexander the Great", said Alexander, °| have cong
world”.

To this the saint said calmly, "The emperors do not roam restlessly like you. Go-
to conquer the hearts of the people by love.”
Alexander bowed and walked away.

32 The saint asked Alexander to stand aside because —

(A) He was not a devotee. (B) He was blocking the sunshin
{C) He wandered restlessly. (D) He did not seek pe o
23 Which of the following word means 'conquer'?
{A) Lose (B) Win
{C) Tell (D} Bow
24, What do the emperors usually not do?
(A) visit a saint (B) rule an empire
(C) roam restlessly (D) bow to saints.
25.  Which of the following does not describe an emperor?
(A) Aruler (B) Aking
(C) An employee (D) A conqueror.
26. Hearts of the people can be won by:
(A) Love (B) Money
(C) Power (D) Sword.

{5)



plete the following idioms.

Com

27, These days | am unning.. - MONey.
(ay) fastof (By short of
(C) long of (o) large of
28. You have 10 MOVe ..o if you want 1o excel in life.
(A rocks (B8) mountains
(C) plains (Dy  hills
2g. | cannaot make 8 ..o or tail of what my iittle sister tells.
(A) hear (B hand
(C) head (D) leg
30. Ramesh is the ......-......sheapnfmafamiw.
(A) red (B) white
(C) blue (D) black
a1, Kashmir is a bong of oo petween India and Pakistan.
(A) hatred () contention
F'Lrl (C) dispute (D) discord
| Give one word for the sentences-
52 Afilm show in the afternocon.
(A) movie (B) matinee
(C) maiden (B) hausefull 1
33 One who trains sports person. |
(&) coach (B) trainer 1
(C) captain (L2} instructor
a4, Aperson who leaves his country to settie in another country.
(A} \mmigrant B) Emigrant '
() Migrant D) Pessimist 1
a5 The science of plant life.
() Physics (B) Chemistry
(C) Zoology (D) Botany
35, Onewhois hopeful.
(A) Optimist (B) Pessimist
(C) Saddist (D) Careless
(8)



Give the correct collective noun-
37.

38.

40.

41.

42

43,

45.

48,

A.......... of sailors:
(A) company (B)
(C) group (D)
A...... offish
(A) cluster (B)
(C) shoal (o
A.ooir.... Of bees.
(A) net (B}
(C) tribe (D)
At the night safari we sawa ......... _of lions.
(A) flock (B)
(C) group (D)
My cat gave birthtoa ......... of white kittens
(A) litter (B}
(C) group (D)
Fill in the blanks with the suitable alternatives.
| can come some ._........day.
(A) other (B)
(C) latter (D)
Thisisthe .............. church,
(A) elder (B)
(C) older (D)
Raji5 ............... intelligent than Rohan.
(A} much (B}
(C} more (D)
| want to read ......... more books,
(A) the littie (B)
(C) a little (D)
| don't have ........... money in my pocket.
(A) any (B)
(C) little (D)

(7}

troupe
crew

collection

drove

bunch

Swarm

pride
herd

library

flock

later

new

eldest

oldest

most

so0mea

any

Lome

a little
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Direction for guestion 47 to 50 :-

In each of the following guestions, A sentence split into four parts labeled a, b,
is given. Rearrange the parts to form the original sentence and select the coma

among the four cholces.
47. (a) remains the same amount of water.
(b) the research revealed that children can
(c) thata pint of water poured from a small glass into a large one
{(d) learnto count long before the recognition
(A) cdba (B) becda
(C) bdca (D) badec
A8 (a)all over Himalayan ranges
(b) many of them chiseled from solid rocks centunies ago

T (¢) hundreds of monasteries

:'II,'I:.?_'I,":. 'II.E_I!r,':. (d) dot the mountainous regions :

AL (A) dbac (8) dabe ,-
=y (C) chad (D) chda !

49, (a) he first made copies of more than twenty

(b) in order to raise money

i A——

(c) the artist s0O much treasured his collection of portraits
(d) that when forced to sell them
(A) bacd (B) cdba
(C) cdab (D) cadb
50, (a) thatshe would not speak for other backward classes
(b) because she firmiy balieved that it was necessary now
(c) she ventured to do so on this one occasion
(d) although the minister had previously emphasized
(A) acbd (B) bacd |
(C) cbad (D} dacb [

(8)



51.

2.

53.

89.

GENERAL KNOWLEDGE

| &
Dry ice is -
(A) Sclid ice without water (B) Benzoic acid
(C) Glacial acetic acid (D) Solid carbon dioxide
Tl O &7
(A) B/ 95 &= 9 (B) #ws® URie
(C) eif¥raw vfafes e (D) B TEAsE IFEEs
Which one of the following helps in clotting of blood?
(A} Vitamin B (B) Vitamin C
{C) Vitamin A (D) Vitamin K
WA F A # § [ 0 W e Agg e 27
(A) ferfis & () frerfas
(C) e ¢ (D) feefiE &
The headguarters of World Bank is situated at -
(A) Manila (B) Washington D. C.
{C) New York (D) Geneva
faee d@ @1 gy we 1R R 87
(A) HeiTe (B) aif¥rTEs Sl
(C) =T (D) i
Percentage of lead in lead pencils is -
oirs ufvme # fasoe wferm ofte & 27
(A) 0% (B) 2%
(C) 4% (D) 6%
Who wrote our National Anthem?
(A) Mahatma Gandhi (B) Dr Rabindra Nath Tagore
(C) Dada Bhai Naroji (0} Shri Bankim Chandra Chatterji
AW =g = e o g
(A) HETEHT T (B) = vdrw Ty AW
(C) BT&T 418 AA9rn (D) 4 dfehy == el
() Set - C



56.

58.

61.

Who did the first heart transplantation?

(A) Alexander Flaming (8) Roentgen
(G} Dr Christian Bernard (D} Aristotie

e g Wi e fpan?
(A) TErrEE AT @) s

() & fonfara ERIE (D) uReEEE

The hardest substance available on earth s -

(A) Platinum (B) Diamond

(C) Quartz (D) Gold

vl Tr worean gl & &

(A e (B) SMEHS

(C) e (D) T

Bandipur sanctuary is located in the state of -

(A) Tamilnadu (B) Uttar Pradesh

(C) Karnataka : (D) Madhya Pradesh

iR SpENTd [ 315 # fem 87

(A) TEETE (@) SR T

(C) FAe® (D) WEd weE

india's highest annual rainfall is reported at -

(A Namchi, Sikkim By Churu, Rajasthan

(C) Mawsynram, Meghalaya (D} Dharmshala, Himachal Prad
e A watfeE a1 gren '/ B~ !
() e, P (B) %, oI ,
(C) wraftRH, FEned () sfamen, fRwTEe WA
\Who won the 2016 noble prize in lierature? '
(A) John Lennon (8) Bob Dylan ]
(C) Richard Marx (D) Paul McCartney |
2016 @ witeea ¥ A g o T’

(A) TET il gy dia AT

) Rerd wrde (o) dfe e

How many medals were won by India in Rio Dlyrrmtn-zﬂiﬁ?
znmaﬁmﬁmaﬁﬂﬁﬁﬂmﬁaﬁﬁaﬁmﬁ? i
(A 2 ® 3 |
(C) 4 D) 5 '

(10) |
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B2

B3.

B5.

What is the ratio of the width to the length of the National Flag of India?
qE & T w6 # el § G B T e

(A) 2:4 (B} 35

(C) 45 (D) 23

What is the full form of www?

(A} World wide ways (B) World wide web

(C) Worid web wide (D) World water ways

www = i e =

(A) T8 TS A (B) TS Fi5s 94

(C) eS8 49 a8 (D) s TEN A9

To what game is ‘China man’ related?

(A) Hockey (B} Squash

(C) Badminton (D) Cricket

A e e | w27

(A) Bl (B) EHaT

(C) Fefireq D) fEe

Whe was the director of the film 'Gandhi'?

(A) Satyajit Ray (B) Bertolucci

(C) Richard Attenborough (DY Wilkam Wylar

T —firen @1 Frim feen R ?

(A) HewiTa I (B) HETe®!

(c) fag v (D) faferm agen

Name the oldest existing newspaper of India.

(A) Bengal Gazette (B) Times of India

(C) Mumbai Samachar (D) The Hindu

TR QO 3% 39 % B aTe GHER U9 aE | o

(A) FITE THE (B aﬁmaﬁmam_ *F’*

(C) Hrag THTER D) R .
.

{11} Set-C




Cricket bat is made from which wood?

(A) Teak ; (B} Willow
(C) Yew (D} Cedar
Brde @ a0 frd owdl U & 87
(W) P () fe
(c) & oy Frsr
Who has been appointed as the new chief of army staff (COAS)?
(A} General Praveen Bakshi (B) General Dalbeer Suhag
(C) General Sarath Chand (D) General Bipin Rawat
ety ore AT @ A sy @ FgE fasdt 1 €7
(A) TRE e (B) wvE Beran e
(C) TALA TR Y (D) e e Ed
The name ‘Dabbawalas’ is related to which city?
(A) New Delhi (B} Bangalore
(C) Nagpur (D) Mumbai
g araT e e wEY § waa €7
(a) 718 faell B) e
(C) T (D) T
International Yoga Day is celebrated on
(A) 20 June (B8) 21 June
(C) 21 September (D) 21 May
aperstra v fRa wE FEE S g7
(A) 20 9T (B) 21 T
(c) 21 R (D) 217
What is potato?
(A} Branch (B) Stem
(C) Root (D} Mone of the above
e T8 7
(A) ZET 8 @0
(C) w1% 0y @ f T
(12) al



T2,

73.

74,

73,

76.

Swimmers go deep below the surface of water and explore sea life, What s it called?
(A) Scuba diving (B) Sky diving

{C) Bungee jumping (D) Canoeing

Sy TEY O W R @ e W # iR wd ohaw @ aar e S e
TEA B 7

(A) TeRET ST (B) THTE STEfET

(C) il ST (D) FerET

How many fundamental rights are there in our constitution?

TR R ¥ fr e aRwR

(A) 6 B 7

(C) 5 (D) 4

A strip of water between two pieces of land is called-

(A) Strail (B) Peninsula

{C) Guif (D) Isthmus

3t & @ B e wed F w FEE

(A) wiel HiE (B) HEM

(C) Tl (D) Terel HUTH

The term ‘Banana Kick® is associated with which game?

(A) Football (B) Volleyball

{C) Handbail (D) Basketball

g fee s e @ @ waEe 27

(A) AT (B) deirare

(C) BT (D) dRDedid

Who was responsible for the Jalian Wala Bagh Massacre?

(A) General Simon (B) General Smith

{C) General Dyer (D) General Myer

iferamaren @ Eearhve @1 frER B 27 y
(A) ST I (B) v e o
(C) TRE BRI (D) WIE AR a-

(3 <
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78.

79.

80.

Who is the defence minister of India?

(A) Manohar Parrikar (B) Kalraj Mishra
(C) Dr Harsh Vardhan (D) Rajnath Singh
A @ v W e 6

(A) FYEY OTfes (B) e s
(C) Sho wdaEH (D) A fHE
Wha is the chief minister of Delhi?

(A) Arvind Kejriwal (B) Kiran Bedi

(C) Arun Jaitley (D) Harsh \ardhan
el & qEpis $H 87

(&) anf SedaA @) fivor 92

(C) 3 e (D) &4 @A

Hindi day is celebrated on-

(A) 14 Oct (B) 14 Sep
(C) 14 Nov (D) 14 March
=&t Raw ®a WA W 87

(A) 14 FFEN (8) 14 e
(C) 14 7R (D) 14w

Wha defined democracy as “Government of the people, by the people, for
people”?

(A) George Washington (B) J.S. Wil

(C) Jean Jacques Rousseau (D) Abraham Lincoln
Poe Ba o ‘A o #, o & @y, e 3 R e B
(A) wT AIfEATE (B) wigw, fe

(C) o e I (D) amen e

(14)




81.

82.

83.

84,

83,

Richter scale is used for measuring the -

(A) Velocity of wind (B). Depth of an ocean

(C) Velocity of earth's rotation (D)  Intensity of earthquake
‘Rz tmr oo /e & fog wam fan S 87

(A) Ea @ T (B) WiE @ TEE

(C) T @ T W © (D) @

The Rowlatt act was passed In the year -
Iele vae ®e WiiNe gH7

(A) 1913 (B) 1915

(C) 1917 (D) 1919

In which of the following states was the panchayati raj first introduced?

(A) Gujarat {B) Rajasthan

(C)} Uttar Pradesh (D) Karnataka

fret 3 & frr wou # varEd o @AY TR IR 5% o

(A) TaITEE (B) RTTRRIT

(C) 9oR Hed (D) ETed

When the earth is nearest to the sun in its orbit, it is said to be in -

(A) Equinox (B} Pesielion

(C) Aphelion (D) Solistice

o gl Sree e & wed Pwe @60 & ow Rufa @ @ wEa &
(A) fama (B) QYRR

(C) Har= (D) rFa

Rashtrapati Bhawan was designed by -

{A) Edward Stone (B} Edwin Lutyens

(C) Tarun Dutt (D} Le Carbusier

wreafey wae @1 fEongs s e ar?

(A) T59€ TS (B) e gow

(C) T T () & .

(=it

(15) Set-C




87.

BB

80.

\Who has won the Raman Magsaysay award 20167

(A) Todur Madabusi Krishna (B) Bezwada Wilson
(C) Dompet dhuafa (D) Al of the above
& 2016 I WA TR s fapwer oirem ¢
(A) TGy FTETTE e B) Homars| faew
(C) ErlE G ' (D) SRR
The book "Six Machine" is the autobiography of -
(A) Yuvraj Singh (B) Chris Gayle
(C) Virendra Sehwag (D} AB De Villiers
foperg R wrefer” fr| @1 el 87
(&) gavs RS @) e e
(c) drm HEaT D) todo & ffeEd
Who is the speaker of Lok Sabha?
(&) Sumitra Mahajan (B) Sushma Swaraj
(C) Uma Bharti (D} Nirmala Sitaraman
S T @ ey B B
(&) g e (B) I ¥

' (c) = AR Dy Frte e
The gas predominently responsible for global warming is -
(A) Carbon dioxide (8y Carbon monoxide
(C) Ni'llmus oxide (D) Nitrogen peroxide
@Eﬁﬂﬂmﬁﬁﬁﬁﬂﬁﬁﬂmmﬁﬁﬂﬁmﬁ?
(A) TTA—STE-3aTES (B) i A IATTEES
(C) wrgEe affeEe (D) ST IR
What is the full form of ALM.7
(A) Ante meridian {B) Ante movement
(C) After meridian (D) Adjacent meridian
gud, w1 el e A &
(A G HAfeT (B @ e
(c) ame HEfEE (D) Teure AR

(18)




a1.

92.

893.

95.

Who prepares maps and charis?

{A) Radiographer (B) Cartographer
(C) Seismographer (D) None of the above
TIAEA T ol He A &7

(A) wfETaTHY (B) wETHIER

(C) Remwimmss (D) g W =&
Who is the Secretary General of United Nations organization?
(A) Ban KiMoan (B} Yukiya Amano
(C) Zaheer Abbas {D) Hiroshi Naka
S W W @ o dped N § 7

(A) ¥ B (8) e s
(C) TEIR ey () ERt A
Which is the capital of Mizoram?

{A) Shimla (B) Aizwal

(C) Imphal (D) Shillong
forsie & o @ A a2

(A) Rren (B) TEETE

(C) g7 (v} R B 1

What is the term of a member of the Rajya Sabha?

(A) 3 Years (B) 4 Years

(€] 5 Years (D) 6 Years

W T @ AN e e ae fge v

(A) i ag (8) =W a4

(C) wim = D) © ad

What is the number of the permanent members of the U.N. Security Council?
WovHe (HgE ) e aefae ¢ wrl gew e 27

(A) 5 (B) 4

(Cy 7 (D) 10




96.

97.

98.

100.

Who was the flag bearer of India at Rio Olympics-20167

(&) PV Sindhu (B} Jwala Gutia

(C) Yogeshwar Dutt (D} Abhinav Bindra

s sefg-2016 & wwia Reanfed] & somiEy Sge R B
(A) oo fig (B) TN T

(C) TR B (D) AP e

Which Is the largest state of India (area wise)?

(A) Madhya Pradesh (B) Rajasthan

(C) Uttar Pradesh (D) West Bengal

HIRT @1 S & R O a9 oY B 91 87

(A) TEY U (B) raTvers

(C) IwR HaW (D) uf¥an @

Kuchipudi is the dance of which state?

(A} Andhra Pradesh (B) Tamilnadu

(C) Orissa (D} Kamataka

"gEIgEl” e we B g 8P

(A) e e (B) ffterg

(C) ST (D) ite

Who founded the Indian National Congress?

(A} W. C. Banerjee (B) Satyendra Nath Banerjee

{C) G K. Ghokale (D) A.O. Hume

HIE W w6 o

(A) B&q, . ol (B) w1y At

(C) . &, e (D) @ 3t &

For a time difference of one hour the longitudinal distance is equal fo -
(A) 1degree (B) 5 degree

(C) 10 degree (D) 15 degree

UF ¢ & WY FHawe W e B Swien @ aiw w22
(A) 1 & (B) 5 fel

(C) 10 f&h (D)

(18)

15 f&h




101.

102

103.

104,

105.

MATHEMATHICS / INTELLIGENCE TEST

i /e i

The HCF and LCM of two numbers are 18 and 252 respectively. If one of the number

is 126, find the other.

2 vl B WEw WAIEE SR AgwH wAEad w18 3R 252 8| A
v e 126 & o R s AR

(&) 12 (B) 18

(C) 38 (D) 15

How many weeks are there in 105 days?

105 &t # freey weme 29 7

{A) 14 (B) 12

{C) 13 (D) 15

Leena has swimming lessons every f_iﬂh day and diving lesson every third day. If she
had a swimming lesson and a diving lesson on May 5, when will be the next date on
which she has both swimming and diving lessans?

(A) May 15 (B) May 10

(C) May 20 (D) May5

S & uienr e dven S o & a g deR e o e S 8 af
5 7E ] TE AV @ AR S A W o aey et e B e wend
gt ?

(A) 1578 (B) 10%2

(C) 207§ Dy 5 WS
Calculate the ratios 2 : 3 =38 —

2 3236 s Erelt e e W e s |
(A) 45 (B) 54

(C) 37 (D) 56

The length of longest chord of the circle is 24 cm, The length of its radius is -
ge @ waR T oitar 24 dodo B | Bromn @ avarg Fn ERf 7

(A) 12 (B) 8

(C} 12 (D) 24

(19) Set - C




e R

s e ¥ [ gom g 8 P
(M) 3 (B) 2
(C) 8 (D) Many (31a)
107. Find the average of all first odd natural numbers less than 15.
15 @ & @il v apios et @ affad s &9 -
(M) 8 (B) 8
(C) 7 (D) 10
108. Mohan is having 20% more money than Sham. If Sham has 500 rupees, then find the
money that Mohan has?
(A) B0O rupees (B) 520 rupees
(C) 400 rupees (D) Nene of these
18 & U I o 20% % e &) s W & O 500 Wo B o HiEd & U
w8 7
(A) 600 %0 (B) 520 %0
(C) 400 %0 (D) 4 ¥ F1g A
109. 5:4 is equal to -
5: 4 59 W frwas R B 7
(A} 125% (B) B0%
(C) B0% (D) 40%
110. What is circumference of circle?
ge 1 iy @ @ 7
(Al (B) 2 nar
(©) 2 xrh o =

",

1068. How many arcs can be drawn in a circle?

(A) 10% (B)

A man sells 320 mangoes at the cost price of 400 mangoes. His gain percent is:
U =¥ 320 A B 400 AHT & WY e U daa § 1 Iudr ufvE @ B

25%

(C) 15% (D) 20%

(20)
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T2,

113,

114,

115.

116.

Subtract (—4) from (-10) -

(~4) B (—10) # | weEh |

(A) -8 (B) 6

(C) 4 (D) 14

A Man has a field of 75 acres. Of which 15 acres has been ploughed. What part of the
field is yet to be ploughed?

U IEH BT 75 UHES H @ 2| 15 UMs WA & qars & g 8 | T P
feerm wrr S & g et & 7

(A) 4/5 (B) 3/4

(C) 5/6 (D) 4/8

How many person will able to eat for 100 days of food which is sufficient for 800
persons for 20 days?

(A) BO persons (B) 160 persons
(C) 240 persons (D) 320 persons
800 TP & foTw 20 s =1 w9 100 R o fray onr @ woy & 7
(A) 8O T (B) 160 &
(C) 240 =T (D) 320 @M
What is 75% of one hour?

(A) 45 min (B) 30 min

(C) 40 min (D) B0 min

1 62 & 75 Ui e g ?

(A) 45 fie (B) 30 fime

(C) 40 fA=e (D) 80 F=e

On dividing a number by 38, the quotient is 10 and the remainder is also 10. Find the
number.

ﬁﬂmaﬁaaﬁﬂm#ﬁwmﬂwm%aﬂ?mmaﬂm%laﬁm

g ?
(A) 360 (B) 390
(C) 380 (D) 260

(21) Set-C
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117, Which shape never have parallel sides?

(&) Rhombus {B) Triangle

(C) Octagon (D) Rectangle

Py ey AR G T S8 B 7

(A) TS @) P -
(C) AT (D) T .

118. Which group shows all the number that are commen factors of 36 and 487
mﬁ#s%ﬁmmmwﬁﬁ?
(A) 1,23486 {B) 1234612
(C) 1234691218 (D) 1.2, 3.46812,16.24

119, A restaurant has 38 tables. in each table 4 people can sit. If every table is full, how
many people can take their seats in the restaurant at the same time?

(A) 34 people (B) 42 people

(C) 122 people (D) 152 people
ﬁ%ﬁﬁﬁaaﬂﬁ{%|uﬁﬁﬁm%4wf&ﬁﬁﬁiﬁﬂﬁlﬁﬁﬁﬁaﬁwm
ol & 4t o A i e it 4 T € 7

| (A) 34 e (B) 42 =faq
' (C) 122 =fan (D) 152 =¥
120. Kiran bought a mobile for 6000 rupees and sold it for 5400 rupees. What is his loss

percent? ;
ﬁﬂﬂ%qﬁmamﬁuﬁmﬁmmmﬁuﬁﬁﬂﬁmmaﬁ
Einfeaddl
(A) 20% (B} 10%
(C) 15% (D) 30%

121, 215 % of 240+ 3/5 % of 180 = ——
240 BT 2/5 % + 180 &I i T eI
(A) 2.03 (B) 2.04
(C) 3.04 (D) 204

(22) Set -
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. The simple interest on Rs. 500 at rate of 5 percent for 4 years is -

(A) Rs. 20 (B) Rs. 100

(C) Rs. 25 (D) Rs. 50

5 ufyord e &v & 500 F0 BT 4 T4 § WHRG @ 8 —
(A) %020 (B) %0100

(C) %0 25 (D) %050

123. What is the complementary angle of 60°7
60° T Q¥ HIYT F BA 7
(A) 30¢ (B) 120¢
(C) 300° (D} 900

r (L 7 2
i e —
124. Express in decimals the sum of 0 1IJ+H]-I] 100

. 7 2

5t o0 op @ AT @ wEme H for|
(A) 0.3272 (8) 058
(C) 0,329 (D} 0.572

125. Find the amount whose 30% is Rs 6.

(A) Rs. 150 (B) Rs. 180
(C) Rs. 30 (D) Rs.20

TE e ST ol foril 30% 6 0 B
(A) %0 150 (B) %0 180
(C) W0 30 (D) 020

126. Ondividing a number by 19, the quotient was 5 and the remainder was also 5, find the

number -
U HE F 19 § 9 ©F W ATThE 5 9 UYhd W 5 B O 9% weEm A
(A) 80 (B) 95

(C) 105 (D) 100



127.

128.

129.

130.

131.

132.

\What should be the selling price of a cow whose cost is Rs 1500 to get 20% profit?

(A) Rs. 1800 (B) Rs. 1530
(C) Rs. 1600 (D) Rs.2000
1500 % & T R A9 O 20% T BRI

(A) W0 1800 (B) 0 1530
(C) %0 1600 (D) %0 2000

Which fraction should be divided by 3/4, so that the quotient is 4/57

fpy fyer @1 a4 s & f a4 8 WY

(&) 318 (B) 15M6

(C) 3/5 (D) 320

The place value of 5 in 878.765 is -

678765 ¥ 5 &1 WU WA B —

{(A) 5/1000 (B) 5M0

(C) 50 (D) &/100

The sum of prime numbers less than 20 is -

20 & ) A ey wEmA B A § —

(A) 78 (B) 75

(C) 77 (D) 79

The speed of a car is 80 km/hr. After 2 hours it covered one fourth of the total distance.
What is the total distance?

wep R B fy B0 freiries wf der # 1 B¢ & gTEm $ET oW T B UD
dred w7 T R ) mE g0 S @

(A) 640 km (B) 120 km

(C) B0 km (D) 100 km

An isosceles triangle has two sides with length x. The third side is half of x. Whatis its
perimeter?

v wEfEarg Pore @1 2 et @ g x 8w e @ e x B S
2 Brge w1 9REm S @i |

(A) Bx (B) 3]?-

(C) 3 x oy 4=




133.

134,

135.

138.

A car travels 14 km in 1 liter of petrol. How many liters of petrol is required to travel 126
km?

(A) 9 liter (B) 28 liter

(C) 4 liter (D} 10 liters

TH TR UF aex doid 5 14 o 9o 21 39 126 A0 9= | e une
AT

(A) 9 &tee (B) 28 wiey

(C) 4 TexR (D) 10@ex,

Jatin reads a 200 page book in 10 hours. How many hours he will take to read a 320
pages book?

(A) 16 hours (B) 24 hours

{G) 18 hours (D) 32 hours

@it 200 U & UE YETH 10 HS H g 2| 98 320 U9 #) qEs e w5
" g ?

(A) 16 HTE (B) 24 "

(Cy 18 T2 (D) 3297

A rectangle has length 15 cm and perimeter P cm. Which equation could be used to
find the width of the rectangle?

UF arE @ s 15 @ito UF aRam P doio 2 amow 9 deE s e
G 0 (ol o s L vk £ ) s e

(A) P=15+wi2 (B) P=15-w
(C) P=304+2w (D} P=30-2w

The value of g+8=2+218-

8+8+242 DI AN &
(A) 8 (B) 8
(C} 10 (D) 14




137.

138.

139,

140.

141.

142,

Hnﬂﬁﬁhkﬂﬂ12ﬂﬁﬂﬂhﬁhﬂﬂ2ﬂbﬂtﬂﬂﬁﬂfmmﬂ-mmﬁmﬁ&mmaﬁ
n‘dnuteuitwﬂltahﬂmﬁliﬁﬁﬂhmﬂaﬁnfmmh?

(A) 25 minutes (B) 28 minutes

(C) 30 minutes (D) 40 minutes
ﬁmﬁwmaﬁzuuﬂﬁuﬁqﬁﬁmﬁr%lﬁﬁ@rmﬂﬂmﬁﬁﬁ
fome o wel 7

(&) 25 e B) 28 e

(c) 30 e (D) 40 e

\What is the greatest common divisor of 54, 36 and 247
H.aﬁqﬁnﬂﬂﬂﬁﬁmﬁﬁww%?

(A) 2 (B) 3

(C) 8 (D) 9

The cost of a school bag is Rs 440 and the VAT on cost is 2%. What is the total cost?
(A) Rs 480.00 (B) Rs448.80

(C) Rs 500 (D) Rs 490

qﬁﬁﬁﬂﬂﬁﬂﬂﬁuﬂm%liﬁﬂﬂﬂzﬁﬁﬂfmﬁm#ﬂﬂﬁﬁﬂﬁ
g1 ' 7

(A) 480-00 T4 (B) 448-80 TU4
(C) 500 T (D) 490 BTl
0.05 will be represented in percent as -

005 @1 it # $9 foan ?

(A) 50% (B) 5%

(C) 95% (D) 20%

The smallest 4 digit number divisible by 2 and 3 is -
zﬁa%ﬁaﬁﬁﬂ#aﬂn&iﬁaﬁmﬁﬁﬂﬁm—

{A) 1000 (B) 1002

(C) 1003 (D) 1006

The sum of the smallest and greatest number formed by the digits 5, 0, 8.9, 2is5-
5 0, B, g.zﬁﬂﬂﬁrﬁﬂﬁiﬁmﬂﬁﬁmﬁmwﬁﬂm

(A) 20589 (B) 98520

(C) 101109 D) 77931

(26) Set-C




143.

144,

145,

146.

147.

Sum of all prime numbers between 10 and 25 is -
mﬁm:sa‘%i‘lﬂﬂﬁﬂmmﬁrm—
(A) 72 @) 83
(C) 66 (D) 70

- o S .
The simplification of Hmﬂm*mm in decimal form is -

10 100 1000

(A) 1.0001 (B) 1.111

(C) 1.001 (D) 0.1111

How many seconds are there in 5 hours?

(A} 18000 seconds (B) 18500 seconds
(C) 1800 seconds (D) 20000 seconds
5 g ¥ fra dwvs R & 7

(A} 18000 ¥HTS (B) 18500 HFHIE
(C) 1800 HHUS (D) 20000 HHE
Dnaﬂdaufaaqunmhﬂm.ﬂhalmﬂnpamﬂteﬂ

(A) 12 cm (8) 10em

(C) 11em (D) 13cm

it & T g 3 Hodlo | gad Ry o 2 7

(A) 12 oo (B) 10 %00

(©) 11 Eoio (D) 13 Ho#io

A student secured 30% marks out of total marks of 250. If he failed by 25 marks, the

marks required to pass are?

qmﬁawﬁq;ﬂzﬁnaimﬁéaa%:ﬁmﬁm%lmﬁzsﬁﬁﬁmﬁr

e & A o 2 & fe feae o wifed 7
(A} 50 (B) 75
(C) 100 (D) 125

(27)




148.

148,

150.

151.

152,

How many 20 cm long and 14 cm wide bricks are needed to pave a rectangular floor
16m long and 14cm wide?

1ﬁﬁnﬂﬁﬂ14ﬁu?ﬁ$mﬁﬂﬂﬂﬁﬂmiﬁﬁ$ﬁﬂznﬁuﬁmaﬁrﬁw
14 Hodo g el de ) e BRl Y

(&) BODD - (B} 11200

(C) 10000 (D) 2800

A tank whose length, breadth and height are respectively Tm, Bm and 5m, then find
the water holding capacity (Volume) of the tank?

(&) 210m? (B) 320m*

(C) 300m> (D) 350m*
ﬁﬁwm.mmm?m,ﬁﬁuwsﬁnﬁlﬁﬁﬁ
ol we @ e (@naE) S B

(&) 210 #Hio® (B) 320 #io®

(C) 300 Hio? (D) 350 Hig®

In a school there are 1200 students. If 40% of them are girls, then find the number of
boys in the school.

w e # 1200 femeft & | o F 40% Fefdt & o dew & HEw ol 8
(A) 720 (B) 480 '
{C) 620 (D) 600

Find the greatest four digit number which is exactly divisible by 667
ﬁﬁmﬂaﬁﬁaﬁrﬂmmm‘raﬁﬂwmﬁ?

(A) 9966 (B) 6666

(C) 9933 (D) 9000

The town newspaper is published every day. One copy has 12 pages. Every day 11,980
copies are printed. How many total pages are printed every day?

W%ﬁﬁm@?ﬁmmﬁmﬁmﬁlwmﬁﬂgﬁ%lmnam
qﬁnﬁmﬁéﬁ'ﬁlﬁ@ﬁaﬁiﬁﬁqﬁuﬁrﬁﬂmg?

(A} 143,760 (B) 144770

(C) 145760 (D) 143670

(28) Set -




153.

154.

155.

156.

157.

158.

The number 12 has got how many factors?
12 & ol o WUE E 7
(A) B (B) 12

(C) & (D) 5
¥ — 15 = —10 What is the value of'x'?
x-]ﬁ:-l{] ﬁxﬁi'ﬂﬁﬁﬁﬁqﬁ?

(A) 5 (B) 10

(C) 25 (D) O

4/5 of a number exceeds its 2/3 by 8. The number is:

(A) 30 (B) 60

{C) 80 (D) Mone of these

el W 1 - o @ 6 ot ¥ T8 W € -
(A) 30 (B) 60

(C) 90 (D) w0 | P
Which of the numbers are twin primes?

it @ i & e g e & 7

(A} (5, 7) (B) (18, 25)
(C) (11,17) (D) (23, 62)
\Write in roman numerals 98.

A= e ¥ 98 @i ey |

(A) XCVII (B) XCWVI

(C) XCVIlI (D) XCVIV
Which is the smallest whole number?

was B1er yof wen ey v

(A) 1 By 2

(C) -1 (D) 0O

(29)




158.

160.

161.

162.

163.

164,

The HCF of 24 and 36 is -

24 31 36 T HETH GHIIECES dar B —

(A 12 B) 2

{¢) 3 (D) 14
AcanduapienenfwurhmEﬂdnysmhilaEnandultinmdaya.handﬂwmng
together can do it in how many days?

(A) 70 days (B) 171/4 days

(C) 190/7 days (D) 12047 days

faei BTH T A 30 F2F ¥ 3w B 40 e # qx ear ¥ 1 ASR B I W AEST
oo B T fe R A @owe 7 © |

(A 70 &1 (B) 171/4 BT #

(C) 190/7 f&=1f H (D) 12007 f&=7 5

The circumference of a circle is 44 cm. Find the area of the circle.
(A) 160 cm® (B) 158 cm?

(C) 156 cm? (D) 154 cm?

frell ger o1 URF a4 Voo & | THET SRS B —

(&) 160 HoHo? (B) 158 HoHio®

(C) 156 Horio? (D) 154 Todio?

Wha’tksthe:Iil'farunnahammeaemmwrafaandﬂmmirdpnwerufz?
sf a2 R 2 um s A I E ?

(A) 2 B) 5

(C) 3 (o) 1

Simplify 37 X 9 +45x 9+ 18 % 9

uee ffo 37 %0+ 45%x 0+ 18% 9

(A) 909 (B) 896

(C) 800 (D) 891

The sum of two numbers is 40 and their difference is 4. Find the rafic of these fwr
numbers.

<1 weEmatt T 7T 40 B N S SR 4 B | S Sl 7 Srund SR i
(A) 10:2 (B) 11:8
(C) 13:9 ' (D) 89

{30) Set -




165.

166.

167.

168.

169,

Find the cube root of 728a'h"

729 a*b® @1 THA @ & 7
(A) 9a'b (B) 9a%’
(C) 9a°b? (D) 9a't’

Manoj eats 8 bananas in the moming, 5 in the afternoon and 2 in the evening. How
mary dozens of bananas does he eats in a day?

Hﬁﬁﬂﬁﬁiﬁ,ﬁﬂ?ﬁmzmﬁmﬁlwﬁﬁﬁﬁﬁﬁﬁﬁhﬁ
@ e ?

1 1
W 13 B 3
3 17
© (D) 1435
The base and height of a triangte is 8cm and 10 cm respectively. Find its area.
{A) 40sgcm (B) 20sgcm
(C) 49 sgqcm (D) 64sqcm

Eﬁﬁﬂﬁﬁrmﬂaﬂ?ﬁﬁéMEﬁnﬁmaﬁ?mﬁuﬁmﬁﬁwmw
g 7

(A) 40 Hosfio? (B) 20 0¥’

(C) 49 Howo? (D) 64 BoHio*

The product of two numbers is 3333. If one of them is 11. find the other-

A vl @ UEHa 3333 2, AR o ¥ UE W 11 & A g am e

(A) 33 (B) 333

(C) 303 (D} 330

Express 12m/min into km/hr.

(A) 0.72 km/hr (B) 72 km/hr

(G} 7.2 kmihr (D) 0.072 km/hr

12 Arex wfy fasre @1 frodto ufdy gver #

(A) 0.72 fdwfio / EUeT (B) 72 f@io /avel
(c) 7.2 fdfo /|veT (D) 0.072 f&A0 /aven

(31) Set - C




170.

P

172.

173.

174.

175.

Three angles of a triangle are in the ratio 1-2:3. What is the value of the greatest
angle?
wﬁgﬁ%ﬁﬁaﬁﬂﬁﬁmtz:z%mﬁa@aﬂmmmwa?
(A) 105° (B) 120°

(C) 90° (D) BO°

What should be subtracted from 1 to get TM07?

1 # 9 fFos wEM W 7,/10 99 7

(A) 110 (8) 2M0

(C) 510 oy 310

How many lines can pass through two given points?

o1 fly o fiait @ Preel Yl oR WE & 7

(A) 1 By 2

(C) 3 (D) Infinite (S1FTE)
Find the greatest fraction?

Hae aer e i dfor ?

2/5, 5/6, 11112, 7/8

(A) 718 (B) 1112

(C) 5/6 (D) 2/5

How many 1/8 are there in 3757

a75 H e 1 /8 8 7
(A) 300 (B) 400
(C) 500 (D) 375

Find the number of triangles is the following figure?
fary o for ¥ fboe B © 7

e

JLvavid

VA




176. The day before yesterday was Saturday, so tomorrow it will be?

(A) FRIDAY (B) ‘MONDAY

(C) TUESDAY (D) WEDNESDAY

#d BU Fe § ugel e ofEw o o & @ e @ fas g e
(A) AR (B) WHAR

(C) FTeaR (D) FEER

177. The time on the watch is quarter to three. If the minute- hand points to North-East, in
which direction does the Hour hand points?

{A) South-west (B) South East
(C) North-West (D) Morth-East
af2 vd) § Wy 2 qoE 45 e & i five o g oan-gd R R 2 @
He 71 ug fw R 4 €9 7
(A)  EfEor—aftem (B) &fEm—gd
(C) Syl (D) OER—gd

178. One moming Viedanti and Shivanya were talking to each other face to face. If Shivanya's
shadow was exactly right to Vedanti, which direction is Shivanya facing?
(A) South (B) East
(C) West (D) Morth
g GAE dar & Frae o g # TG T S WS qnedrd w9 vel o) afg
R 3 o dordt @ O ol e £ o aosy B e @ g e R
& TRE B 7

(A) = ®

(€) wiEEA (D) W&ER
179. Which of the following year is a leap year?

P # @ &t W oad @ oo ad @ 7

(A) 1882 (B) 1800

(C) 1296 (D) 1962

(33) Set - C
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180 Mahesh walks 30 meters towards East. Then he tums to his Right and walks 20 meters.
Then again turning to his right, he walks 30 meters. How far and in which direction is
he from his original position? - ,
{(A) 20 meter, North (B) 50 meter, South
(C) 50 meter, West (D) None of these
ey gd faem # aiw 30 Wrew weren | Y 98 aue G et 8 av 20 drew |
T 2| v 4R e 98 e <IfRe geew 30 Wew g B) 98 0 geafies
v 9 e g o R R ¥ & 7
(A} 20 Wiew, 9 (B) 50 Wiex, &
() 50 ¥rex, uf¥EA (D) %@ § FE Tm

181. Anumber is greater than 3, but less than 8. Also it is greater than 6 but less than 10.
The number is — |

s e 5 % Wl b ot 8 oW ¥ T A o W B R0 |
H oA g @ TR —
(A) 5 (B) B
(C) 7 (D) 8 |
182. Mohan ranks 137 in the class of 31 students. What is his rank from the last? |
WET 31 O A FE A 13§ W W A ) 9wer Ge | a6 e §?
(A) 15™ (B) 17™
(C) 19™ (D) 20™
183. If A stands for '+', B stands for -' and C stands for ‘X'. What is the value of
(10C 4)A(4 C 4) B 67
afe A wraed '+ B @ el ', ¢ w1 arl X TE (1004 A4 C ) B 6B AN B
BT ?
(A) 48 (B) 50
(C) 56 (D) B0
184, W'+ isX, -is'+, 'Xis'+ and '+'is -, then....

21+8+2-12X3=7

Agfe 4 = W S sl g e = T 213 = 7
(A) 14 (B) 8
(C) 135 (D) M

{34) Set - C




Find the words which are different from the group. (Ques 185 - 186) oy
forsr F @ #t w w= f 2 |(9T-185-186)

185. (A) Chandigarh (B} Kerala
(C) Manipur (D) Andhra Pradesh
(A) TSR (B) e
(C) FehigR (D) ke e
186. (A) Yen (B) Lira
(C) Dollar (D) Ounce
(A ()
(C) FTer (D) amaw
Hﬂﬂt out the codes for each question and find the second missing word | Ques
4187 - 188)
P wet A v wes @ frdl @le @) ggA oY g wew @ el FEiRa
&% | (gv1-187—188)

187, IfQLMU means SNOW, then JGQR means —
afe oLMU =T @2 SNOW # o JGQR T 3 —
(A) KTIS (B) SILT
(©) TiST (D) LIST
W means POST, then EDKG means —
@7 a7ef POST & o EDKG o1 3 —
(B) NAND
(D) SAND
out the relationship between two words (Ques. 189-190)

| #aE ad W wTa SR (UT-189-190)

-

® - - Leopard : 7
(B} Lion
(D) Zebra
- e 7
B) N
(D) &N

(35)



190. Boat: Oar ; : Bicycle : 7

(A) Road (B) Wheei
(C) Seat (D) Paddle
1 T L e 7
(A) TESD (8 ufEm
©) e (D) e
191. Arrange these words in alphabetical order and find out the one which comes at second
place?
Prer S Tl FY AR B W ATHT 98 I S Y ST G R O S
(A) Tennis (B) Tendon
(C) Tender (D) Tempest

192. Find the value of “?
" A R 7

/\
X Y
0
(A) 72 (8) 66
(C) 68 (D) 49

193. Which one will replace the question Mark?
= 3 9 wea e ® ®F wienfia s ?

Az G Ee
G3 Is ?

Ms Os Qua




DIRECTION (194 — 198 ) : FIND OUT THE MISSING TERMS:
frder : (194—1908) I UG S BT —

1g4. CDF DEG, EFH, ..........7
(A) FGI (B) FGH
(C) HFG {0y EFI
1905 6 24, 12, .......7. 18,8, 24
(A) 4 (B) 8
{C) 16 (D) 32
196, a _bbc_aab_cca_bbcc
{A) bach (B) acba
(C) abba (D) caba
197. 81:27:83:7
(A) 38 (B) 63
(cy) 3 (Dy 13
108, BdNf:JnLo : OrGh:?
(4) GhNm (B) WbDqg
{C) NmCh (D) FwBf
188, A's mother is sister of B and daughter of C. Dis the daughter of B and sister of E. How
C is related to E?
{A) FATHER (B) UNCLE
{G} GRANDMOTHER (D) GRANDFATHER

aaﬁmsaﬁm%mﬂcﬂrﬁaﬁ%inaaﬁﬁaﬁﬂmeaﬁﬁ#%m
T E @ T WAL 87
(A) o (B) el
,;c;.-.ﬂ-a (D) TET
200. boys are so standing that they form a circle each facing the centre, Alok is to left of
am Sunil is between Ashok and Vinay. Hari is between Alok and Ashok. Who is
@Ihluﬂﬂnay‘?
A) PRABHAT (B) HARI
(C) ASHOK (D) SUNIL
B wed o g # dw A SN T e wS B s W @ 4 A &
S & B @ e whe ¥ aes sl sl @ e B9 8| R @ d aiR

(B) B
(D) Hrired

(37)




